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Module 1 Practice Test
(Mod 1.1 - Mod 1.11)

Below is a sample of several different floor designs available to customers. Use
these designs to answer questions 1 - 3.

Design 1

Design 2
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1. How many white tiles would be found in Design 507
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2. Write an expression that would help you calculate the number of tiles in Design n.
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3. The white tiles represent a beautiful and expensive marble tile. You cannot afford to
buy any more than 100 tiles. Which is the largest design you can afford?
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Match each item on the left with a different representation from the same
sequence on the right.

d 4. 3,5,7,9,11, ... a. f(1)=3
f=fx-1)-2
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c. f(x)=3-2%
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fx)=f(x—-1) x 2
b, F@ =6-(5) ’ P
i
]
S
€ 8 e x | f(x)

D WN -
N




Multiple Choice

a

9. Which recursive function describes the sequence 1,5,9,13,17,... 7
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a. f(l):l,f(x):f(x—1)+4 C. f(x)=4x+1 g}(\\?‘

b.f()=-3,f(x)=f(x—-1)+4 d f(x)=4x-3
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b 10. Which explicit function describes the sequence 33, 11 331 . % ; % -
=5 o +3

a. f()=2,f(x)=flx—1)+33 c. f)=99-(3) B
b. f(1) =33, f(x) =flx—1) X 3 d. f(x) =99 -(3)*

C 11. Which recursive function best matches the explicit function'F(x) =—-2x+57
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a. f()=-2,f(x)=flx—1)+5 ¢ fW=3,fW=fa-1-2 O gg; o
b. f(1) =5,f(x) = fx—1) - 2 d. f(1)=5,f()=flx—1) x -2

d 12. Which explicit function best matches the recursive function
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a. f(x)=—-4x+4 c. f(x)=4x

b. f(x) =4x—4 d f(x) =4x-8



b 13. Which sequence best matches the explicit function f(x) = 3 - (—2)*

a. 6,-12,24 ,-48, 96 b. 6,12,-24,48,-96
c. -2,-6,-18,-54 ,-162 d -2 2 .18 -54
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Short Answer

14. Make a table for the first five_terrps_of the sequence represented by the

equation f(x) = 3x — 4. X II':._ e ‘
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15. Write the explicit equation for the sequence 1,2 ,4,8,16, ...
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Short Essay
f(x)=3(x—-1)+5

16. Write a short essay that compares and contrasts recursive functions and explicit
functions. Then, say whether the function above is recursive or explicit by using the first
part of your essay to support your answer.
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